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SECTION - A

Attempt any two questions from this section in about

500 words each :	 2x20=40

Explain the concept of consumer's equilibrium

with the help of indifference curve analysis. Also
show what happens to the equilibrium if there is

change in the income of the consumer. Explain
the notion of income-consumption curve.

Distinguish between perfect competition and
monopoly. How is monopoly price determined ?

Describe the role of households, firms and
government in the context of circular flow of

income.
What do you understand by the Consumption
function ? Explain the relationship between
consumption function and multiplier.
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SECTION - B

Medium answer questions :

Attempt any three questions from this section :	 3x10=30

Analyse the law of variable proportions.

What are the basic ingredients of a rational
taxation system ?

Discuss the relationship between the quantity of
money and the general price level with the help

of Fisher's equation of exchange.

Explain how the producer achieves equilibrium
when demand curve is kinked.

9.	 Examine the relationship between uncertainty
and profits.
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SECTION - C

Attempt all the questions from this section :

10. Distinguish between the following (any two) : 2x5=10

Fixed and variable costs

Open and suppressed inflation

Real and nominal interest rates

Balance of trade and balance of payments.

11. Explain any two of the following :
	

2x5=10

Homogeneous production function

Backward - bending supply curve of labour

Engel's law

Consumer's surplus

12. Very briefly explain any five of the following
concepts :

Transfer earnings

Deficit Financing

Administered Prices

Derived Demand

Fiscal Policy

Say's Law of Markets

Public Debt

GDP at market prices

5x2=10   
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